—®IxH
EHRES

(IiEmm)
AT OAZXA R EF
EHBABE i
HAFHEL v
e s @
AR =
= sanmmens PR ot
E%mﬂﬂ&% SR
............. TS:A1T0 A [ B
TB:F-rO
e S A B 1L | d TE{
SJW22RFP-RO4RFT | TS59 we2-14(F) |Rc1/4| 33|13 8 8,400
SJW22RFP-ROBRFT | TSB0 | we2-14() |Re3/8| 38| 13| 10| 8700
SJW22RFP-ROSRFT | TS61 | we2-14(#) |Re1/2| 38| 13| 10| 8700
z | sUw22LFP-RO4RFT | TS62 w22-14(k) |Rc1/4| 33| 13| 8 | 8400
% SJW22LFP-ROBRFT | TS63 we22-14(x) |Reass| 38| 13| 10| 8700
Z| SUW22LFP-ROBRFT | TSB4 w22-14() |Rel/2| 38| 13| 10| 8700
SJW21LFP-RO4RFT | TSB5 wa1-14(k) Rc1/41 33| 13 8 8,400
SJW21LFP-ROBRFT | TS66 wa1-14() |Rc3/8| 38| 13| 10| 8700
SJW21LFP-ROBRFT | TS67 wa1-14() |Rci/2| 38| 13| 10| 8700
BJW22RFP-RO4RFT | TB59 | we2-14(5) |Rc1/4| 33| 13| 8 | 3,000
BJW22RFP-ROBRFT | TBBO | W22-14(5) |Rc3/8| 38 | 13| 10| 3200
BJW22RFP-ROSRFT | TBB1 | We2-14(#) |Rei/2| 38| 13| 10| 3200
# | BUW22LFP-RO4RFT | TB62 w22-14(%) |Rel/4| 33| 13| 8 | 3000
"""""" BJW22LFP-ROBRFT | TBE3 wee-14(x) |Re3/8| 38| 13| 10| 3200
BJW22LFP-ROSRFT | TBB4 we2-14(x) |Rcl/2| 38| 13| 10| 3200
BJW21LFP-RO4RFT | TBES Ww21-14(%) |Rc1/4| 33| 13| 8 | 3.000
- BJW21LFP-ROGRFT | TBE6 w2114 |Reass| 38| 13|10 3,120
INDEX(B&) BJW21LFP-RO8RFT | TB67 w21-14¢5) |Rei1/2| 38| 13|10 3120
FAXA AHMF
?gf—}btj?{t}yh
v
T DAZAXAZEF
AZXAZF L
S k947 ——
AZXHS—#F —
(EFoks17)
AAXAZHFE
FAXAREF E’L - \
S or917)
F—Z
I)Litt
BEAU—T
@g?_)j v 8
AR 1) 1
ST Bt EEES A B | L d | =
TRPTSI— SJRO4RFT-RO4RFT | TS68 Rcl/4 Rcl/4| 35 8 | 8400
M16-M128
L | SURO4RFT-ROBRFT | TSE9 Rcl/4 Rc3/8 | 40 8 | 8,700
Mi6F2—J7579= 2| SJRO4RFT-RO8RFT | TS70 Rcl/4 Rc1/2| 40 8 | 8700
W2F21—FTPF 59— 2
g7k |L| SJIROBRFT-ROBRFT | TS71 Rc3/8 Rc3/8 | 40 10 | 8,700
% SJROBRFT-ROBRFT | TS72 Rc3/8 Rcl/2 | 40 10 | 8700
137 SJROBRFT-RO8RFT | TS73 Rc1/2 Rc1/2| 45 14 | 9,000
e
My BJRO4RFT-RO4RFT | TB6S Rcl/4 Rcl/4| 35 8 | 3,000
TSUIXATMF
T T BJRO4RFT-ROGRFT | TB69 Rcl/4 Rc3/8 | 40 8 | 3,000
31—
e BJRO4RFT-ROBRFT | TB70 Rc1/4 | Rcl1/2| 40 8 | 3,200
BJROBRFT-ROGRFT | TB71 Rc3/8 Rc3/8 | 40 10 | 3.000
BJROBRFT-RO8RFT | TB72 Rc3/8 Rcl/2 | 40 10 | 3.200
BJROSBRFT-RO8RFT | TB73 Rcl1/2 Rcl1/2| 45 14 | 3,200

BT R O

EEERES 20MPaHm T F . 20MPaZB ZENDBAFCHEM TV, (RRICFDEEHFOEONSBNET )
1 TMPa & 3MPall T TTER TEL,

1 : 30MPaF TTERVEEITET.

361 AABRIFP388ECE TS,



. —BI%HM
(H&mm) ENDRES
OAAXAZEF (RFvbF1T) SRR
. L EH#RS
HAEL =k
R |
HAEEL v
R0 ESETBEBER
%mﬂﬂ%ﬁﬁ
e ; ﬁ p R
#1MPal FOEERATT, BLH RS
fitian |8 A B I | d TEAh CHORCET
SJM16RNR-RO4RFT | TS140%| M16x15(%) |Rcl/4|53 | 6 | 4 |24.000 WEH HE L
SJM16LNR-RO4RFT | TS141%| M16x15(%) |Rc1/4| 53 | 6 | 4 | 24,000
SJM1BRNR-ROBRFT | TS142*| M16x15(#) |Rc3/8 |53 | 6 | 4 | 24,000
o SJM16LNR-ROBRFT | TS143*| M16x15(%) |Rc3/8 |53 | 6 | 4 |24.000
7| SUW22RNR-RO4RFT | TS144 | W22-14(15) |Rc1/4|72 |10 | 8 |24.000
| SJW22RNR-ROBRFT | TS145 | W22-14(f) |Re3/8| 72|10 | 10 | 24,000
SJW22RNR-RO8RFT | TS146 wa2-14(8) Rc1/2| 74 | 10 | 10 | 24,000
SJW30RNR-RO8RFT | TS147 | W30-14(/) |Rcl1/2|90 | 12| 14 | 28,000
SJW30RNR-R12RFT | TS148 | W30-14(f) |Rc3/4|90 | 12| 16 | 28,000
SJW30RNR-R16RFT | TS166 | W30-14(%) | Rel |97 | 12| 16 | 30,000
BJM1B6RNR-RO4RFT | TB140*| M16x15(#) |Rc1/4| 53| 6 | 4 | 4,800
BJM16LNR-RO4RFT | TB141#| M16x15(%) |Rc1/4| 53| 6 | 4 | 4,800
BJM16RNR-ROBRFT | TB142#| M16x15(5) |Re3/8 |53 | 6 | 4 | 6.000
BJM16LNR-ROBRFT | TB143%| M16x156(%) |Re3/8|53| 6 | 4 | 8OO0
BJW22RNR-RO4RFT | TB144 | We22-14(5) |Rcl/4| 72| 10| 8 | 7,200
BJW22RNR-ROBRFT | TB145 | Wwe22-14(/) |Rc3/8| 72| 10| 10| 8400
BJW22RNR-RO8RFT | TB146 | W22-14(%) |Rcl/2|74 | 10| 10| 10,200 N—
BJW30RNR-ROSRFT | TB147 | W30-14(%) |Rcl1/2|96 | 12|14 | 15,600 INDEX(32%)
BJW3ORNR-R12RFT | TB148 | W30-14() |Re3/4|96 | 12| 16 [17.400 ApAMT
BJW30ORNR-R1BRFT | TB166 | W30-14(#) | Rcl | 97| 12| 16| 17,400 wHﬂ)
BJM12RNR-RO4RFT | TB167 | M12x1(H) |Rcl1/4|565|65| 3 | 4.800 XAXAZHEE
(HFvbI17)
WS A
OAAXARHEF FAAATHE
L AAXARHE
[ (kg1
F—X
TILR
BEAU-—T
"b R
P B it - P4bH BEAU—T
‘i— EEES)
It XA BALORATD B
Tes1 0y TSH4o0Y ZRrIFI—
TB:FrO A { { [N TBFrOv M16-M12F
> 71—7‘2@3&%’;
I} 1) M16Fa—T79 79—
LT [=ETE A L1 |d]| =i W22F21—T 75 F5—
Z | SJW22RFP-W22RFP | TSE8 W22-14(5) 36|13 10| 5,100 Tk
g
L
A
n | BJWR22RFP-W22RFP | TB58 W22-14() 36| 13|10 3.400
& HTSU—X

BDAZAXAXBF (XY T)

Hex30 L
3
P T — - RO
AL U 12 | \8
AU, 255 A B Lik|lk|H|d| =@
BMSW22RFP-W23RFR | TB-MS | Wee-14(8)| Wa3-14(8) |42 14[16|30| 5 | 1,730

R~ S O8N : S
SRS COMPeRIBTY . COMPeiER SENDBAUTIRTa, — & | MPa X& SMPallFCCRATaL
@RI FOEEHHOEONBDET.) [ : 30MPag CTERLVEIZIFE T,

RIHERLIEP388%ETE ey, 362



	ヤマト産業_08_00361P1
	ヤマト産業_08_00362P1

